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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
¯∏á¬ ¬ÛS ( 6th Paper : Taxonomy and Evolution ) 

¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± ¬ Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 
¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º Œ˚ Œfl¡±ÀÚ±  ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 [fl¡]  ø¬ıø26√ißfl¡¬ı˛ÀÌ¬ı˛ ¸—:± ø√Úº ø¸˜¬Û…±ø¬∏Cfl¡ õ∂Ê√±øÓ¬ Î¬◊æ√¬ı 

fl¡±Àfl¡ ¬ıÀ˘ ∑ ’…±À˘±¬Û…±ø¬∏Cfl¡ õ∂Ê√±øÓ¬ Î¬◊æ√¬ı ¬ÛXøÓ¬ 
Î¬◊¬Û˚≈Mê√ ø‰¬S¸˝√√¬ ¬ıÌ«Ú± fl¡èÚº    2 + 2 + 6 

 [‡¡]  Œ|Ìœø¬ıÚ…±À¸¬ı˛ Ó¬N&ø˘¬ı˛ Ú±˜ ø˘‡≈Úº Œ˙±fl¡˘ › 
ø¶úÀÔ¬ı˛ Ú±˜¬ı±√ ¬ı…±‡…± fl¡èÚº flv¡…±øÎ¬Êƒ√̃ ƒ ¸•ÛÀfl«¡ 
ø¬ı˙√ ’±À˘±‰¬Ú± fl¡èÚº 2 + 4 + 4 

 [·¡]  ø¬ıô¶±¬ı˛ÀÌ¬ı˛ ¬Œˆ¬ÃÓ¬ ¬ı±Ò± [physical barriers] 
¸•ÛÀfl«¡ ø¬ı˙√ ¬ıÌ«Ú± fl¡èÚº ¶§±ˆ¬±ø¬ıfl¡ ø¬ıô¶±¬ı˛ÀÌ¬ı˛ 
õ∂fl¡±¬ı˛&ø˘ ’±À˘±‰¬Ú± fl¡èÚº  5 + 5  

 [‚¡]  ŒÊ√ÀÚøÈ¬fl¡ øEÙ¬Èƒ¬ øfl¡ˆ¬±À¬ı ø¬ı¬ıÓ«¬ÀÚ ˆ”¬ø˜fl¡± ¬Û±˘Ú 
fl¡À¬ı˛ Ó¬± Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº ¤fl¡øÈ¬ ¬Û¬Û≈À˘˙ÀÚ 
øÙ¬Ú±˝◊√√̆  Ô±À˚˛±fl¡±¬ı±«˜±˝◊√√Î¬ ’±¶§±√Ú ¸—Sê±ôL  
øÊ√ÀÚ±È¬±˝◊√√¬Û øÙË¬Àfl¡±À˚˛øk ˝√√̆  TT = 0·45,              
Tt = 0·30 ¤¬ı— tt = 0·25º ˝√√±øÎ«¬-›À˚˛Ú¬ı±·« 
¸±˜…±¬ı¶ö± ’Ú≈˚±˚œ̨ ¤ ◊̋√√ ¬Û¬Û≈À˘˙ÀÚ T ¤¬ı— t  øÊ√ÀÚ¬ı˛ 
øÙË¬Àfl¡±À˚˛øk øÚÌ«˚˛ fl¡èÚº 6 + 4  

2º Œ˚ Œfl¡±ÀÚ±  øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 
 [fl¡¡]  ›ø¬ı˛À˚˛KI◊±˘ õ∂±ÌœÀˆ¬Ã·ø˘fl¡ ’=À˘¬ı˛ øÚøV«©Ü ≈√øÈ¬ 

¬Û±ø‡, øÓ¬ÚøÈ¬ ô¶Ú…¬Û±˚œ̨ › ¤fl¡øÈ¬ Î¬◊ˆ¬‰¬À¬ı˛¬ı˛ ∆¬ı:±øÚfl¡ 
Ú±˜ ø˘‡≈Úº 2 + 3 + 1 

 [‡¡]  ’±øfl«¡À˚̨±¬ÛƒÀÈ¬ø¬ı˛'-¤¬ı˛ ¸¬ıœ̨¸‘¬Û › ¬Ûé¬œ¬ı˛ ∆¬ıø˙©Ü…&ø˘ 
Î¬◊À~‡ fl¡èÚº 3 + 3 

 [·¡]  Ù¬±Î¬◊`¬±¬ı˛ ¤ÀÙ¬"√√ › ¬Û¬Û≈À˘˙Ú ø˙ø˙-¢∂œ¬ı±¬ı¶ö± 
[bottleneck] ø‰¬S¸˝√√ ¬ı…±‡…± fl¡èÚº 3 + 3 

 [‚¡]  õ∂±Ìœ ø¬ıô¶±À¬ı˛ fl¡ø¬ı˛ÀÎ¬±¬ı˛ › ¸≈ ◊̋√√¬ÛÀ©Üfl¡ƒ¸ ¬ÛÔ ¸•ÛÀfl«¡ 
’±À˘±‰¬Ú± fl¡èÚº 4 + 2 

 [„√√¡]  ∆Ê√ø¬ıfl¡ õ∂Ê√±øÓ¬ Ò±¬ı˛Ì± ø¬ı˙√̂ ¬±À¬ı ¬ı…±‡…± fl¡èÚº 6  
 [‰¬√√¡]  ˙øMê√ Î¬◊»¬Û±√Ú ¬ı‘øX¬ı˛ Ê√Ú… ¬Û±ø‡À√¬ı˛ ’øˆ¬À˚±Ê√Ú ¬ıÌ«Ú± 

fl¡èÚº 6 
3º  Œ˚ Œfl¡±ÀÚ±¬ ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12      
 [fl¡] øÊ√Ú ¬Û≈˘ › øÊ√Ú øÙË¬Àfl¡±À˚˛øk fl¡±Àfl¡ ¬ıÀ˘ ∑     
 [‡] ˜±¬ı˛¸≈ø¬Û˚˛±À˘¬ı˛ ¸¬ı˛œ¸‘¬Û ∆¬ıø˙©Ü…&ø˘ ø˘‡≈Úº  

 [·] Œõ∂±øÈ¬ÚÀ˚Į̂¬ ˜±˝◊√√ÀSê±ø¶£¬˚˛±À¬ı˛¬ı˛ ̨&èQ ø˘‡≈Úº   
 [‚] ’±˘Ù¬± È¬…±À'±Úø˜ ¸•§Àg ’±À˘±‰¬Ú± fl¡èÚº    
 [„√√¡√√] ¬Ûø˘øÈ¬ø¬Ûfl¡ › Œ˜±ÀÚ±øÈ¬ø¬Ûfl¡ õ∂Ê√±øÓ¬¬ı˛ ¸—:± ø√Úº  

 [‰¬¬] Œ˜À¸±Ê√ø˚˛fl¡ ’øÒ˚≈À·¬ı˛ ’ÒœÚ¶ö õ∂Ò±Ú ˚≈·&ø˘¬ı˛ Ú±˜ 
› ¸˜˚˛fl¡±˘ ø˘‡≈Úº 

 [Â√¬¬] ¬Ê√œ¬ı±Àù¨¬ı˛ &èQ ¬ıÌ«Ú± fl¡èÚº  
 [Ê√] ’±Sê˜Ì±Rfl¡ ’Ú≈fl‘¡øÓ¬ ¸•ÛÀfl«¡ ’±À˘±‰¬Ú± fl¡èÚº 
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( English Version ) 

1. Answer any two questions  : 10 × 2 = 20 

 (a) Define isolation. What is sympatric 
speciation ? Describe the process of 
allopatric speciation with suitable 
diagram. 2 + 2 + 6 

 (b) Write down the names of theories of 
classification. Explain the concept of 
Nominalism in the light of Soakal and 
Smith. Provide a detail discussion on 
cladism. 2 + 4 + 4  

 (c) Describe in detail the physical barriers 
of dispersal. Discuss the types of 
natural dispersal. 5 + 5 

 (d) Discuss with example how genetic drift 
plays important role in evolution. In a 
population the genotype frequency of 
taster for phenyl thiocarbamide is          
TT = 0·45, Tt = 0·30 and tt = 0·25. 
Calculate the gene frequency of T and      
t gene population according to Hardy-
Weinberg equilibrium. 6 + 4 

2. Answer any three questions : 6 × 3 = 18 

 (a)  Write the scientific names of two birds, 
three mammals and one amphibian 
exclusively found in Oriental realm. 

   2 + 3 + 1  

 (b) Mention the characteristic reptilian and 
avian features of Archaeopteryx. 

   3 + 3 

 (c) Elaborate founder effect and population 
bottleneck with diagram. 3 + 3 

 (d) Discuss corridor and sweepstakes route 
in relation to faunal distribution. 4 + 2 

 (e) Give a detailed concept on biological 
species concept. 6 

 (f) Describe the adaptation for high energy 
production in birds. 6 

3. Answer any four questions : 3 × 4 = 12 

 (a) What do you mean by gene pool and 
gene frequency ? 

 (b) Mention the reptilian features of 
marsupial. 

 (c) State the significance of proteinoid 
microspheres.  

 (d) Discuss on the alpha taxonomy. 

 (e) Define polytypic and monotypic species.  

 (f) Write down the names and time  period 
of the major periods of Mesozoic Era. 

 (g) State the importance of fossil. 

 (h) Discuss on aggressive mimicry.     
    


